T THYNUIN

558

NIV DTS5 T6820M s Eron’ ATED

No.E-9944

PNEUMATIC HOLD DOWN TOGGLE CLAMPS 6820M

S5400
OEEFREFVIVI—HTT,

FA v+

BYA xR
No. A B . C D E F i G H | : J
6820M-1 5 39 16 45 18 12 24 22 84 15~ 45
6820M-2 6 515 20 55 25 17 27 26 102 -1 ~7
6820M-3 8 79 20 75 36 26.5 32 36 149  55~14
6820M-4 10 101 32 8.6 48 35.5 45 46 186 -3 ~255
No. K L M N o : P : Q R S
6820M-1 10 6 455 12 M5x0.8 GEE) 136 50 6
6820M-2 12 6 125 55 13 M5x0.8 (I 8) 144 54.5 10
6820M-3 18 75 74.5 16 G1/8 176 62.5 12
6820M-4 20 13 90 22 G1/8 201 77.5 16
L L s i F * JERERRY TR
. 51EAKN REAKN PN Ry ExCyFx  SUve— L e
Z—5"—No. No. o 3 T4 15 [t ZhO—7 zﬁﬁxﬁﬁ HEkg i
* 109475 | 6820M-1 | 0.8 1.1 0.2 0.3 0.1 = M5x0.8 x30: 25 175x46: 0.34 | 14,500
% 109476 | 6820M-2 | 1.0 12 07 10 03 | M6x1 X35 40  196%55 0.60 | 15,500
* 109477 | 6820M-3 | 1.0 25 065 1.1 0.5  M8x1.25x45 50  255x75  1.03 | 17,000
% 109478 | 6820M-4 | 2.0 = 30 15 22 075 M8x125x65 55  302x90 172 | 24,600
¥ IFZEEE0.6MPaBETY .
WBRER—Y
ISVEVTT—I ISVEVTRIUa— | BR—F4>TT7—L4 FSAZVT 2RI a— 2FUVF2AIYa— |7/\ —++vv 6893
IJRX5>237/6896 6890 /; 6895 6891 6892
— t ‘ ‘ o9 @
Ps4s > (P.529 » ] (P50 » |
. . SINCE 1560
CADF—95 90—k - EERAE Web B bT! [ 7T | €EES NABEYA co., L.

FriendsNo.219/2021.11ERE





